

RESEARCH

Open Access

A note on fractional spaces generated by the positive operator with periodic conditions and applications

Allaberen Ashyralyev^{1,2} and Fatih Sabahattin Tetikoglu^{1*}

*Correspondence:
fstetik@gmail.com

¹Department of Mathematics, Fatih University, Istanbul, Turkey
Full list of author information is available at the end of the article

Abstract

In this study, the second order differential operator A^α defined by the formula $A^\alpha u = -u_{xx}(x) + \delta u(x)$, $\delta \geq 0$, with domain $D(A^\alpha) = \{u(x) : u(x), u'(x), u''(x) \in C(R^1), u(x) = u(x + 2\pi), x \in R^1, \int_0^{2\pi} u(x) dx = 0\}$ is considered. The Green function of the differential operator A^α is constructed. The estimates for the Green function are obtained. It is proved that for any $\alpha \in (0, \frac{1}{2})$, the norms in the spaces $E_\alpha = E_\alpha(\dot{C}(R^1), A^\alpha)$ and $\dot{C}^{2\alpha}(R^1)$ are equivalent.

The positivity of the operator A^α in Hölder spaces of $\dot{C}^{2\alpha}(R^1)$, $\alpha \in (0, \frac{1}{2})$, is proved. In the applications, theorems on well-posedness of local and nonlocal boundary value problems for elliptic equations in the Hölder spaces are obtained.

Keywords: Green function; fractional spaces; boundary value problems; positive operator

1 Introduction

Various problems for partial differential equations can be considered as an abstract boundary value problem for an ordinary differential equation in a Banach space E with a densely defined unbounded space operator A . The role played by positivity of the differential and difference operators in a Banach space in the study of various properties of boundary value problems for partial differential equations, of stability of difference schemes for partial differential equations and summation of Fourier series is well known [1–5]. The positivity of a wider class of differential and difference operators in Banach spaces has been studied by many researchers [6–25].

Let E be a Banach space and $A : D(A) \subset E \rightarrow E$ be a linear unbounded operator densely defined in E . A is called a positive operator in the Banach space if the operator $(\lambda I + A)$ has a bounded inverse in E and for any $\lambda \geq 0$, the following estimate holds:

$$\|(\lambda I + A)^{-1}\|_{E \rightarrow E} \leq \frac{M}{\lambda + 1}.$$

Throughout the present paper, M denotes positive constants, which may differ in time and thus is not a subject of precision. However, we will use $M(\alpha, \beta, \dots)$ to stress the fact that the constant depends only on α, β, \dots .

For a positive operator A in the Banach space E , let us introduce the fractional spaces $E_\alpha = E_\alpha(E, A)$ ($0 < \alpha < 1$) consisting of those $v \in E$ for which the norm

$$\|v\|_{E_\alpha} = \sup_{\lambda > 0} \lambda^\alpha \|A(\lambda + A)^{-1}v\|_E + \|v\|_E$$

is finite.

Let us introduce the Banach space $C^\beta(R^1)$, $\beta \in (0, \frac{1}{2})$, of all continuous 2π periodic functions $\varphi(x)$ defined on R^1 and satisfying a Hölder condition for which the following norm is finite:

$$\|\varphi\|_{C^\beta(R^1)} = \|\varphi\|_{\dot{C}(R^1)} + \sup_{x, x+\tau \in [0, 2\pi], \tau \neq 0} \frac{|\varphi(x + \tau) - \varphi(x)|}{|\tau|^\beta},$$

where $\dot{C}(R^1)$ is the Banach space of all continuous 2π periodic functions $\varphi(x)$ defined on R^1 with the norm

$$\|\varphi\|_{\dot{C}(R^1)} = \max_{x \in [0, 2\pi]} |\varphi(x)|.$$

In [3], a new method of summations of Fourier series converging in

$$\dot{C}(R^1) = \left\{ \varphi(x) \in C(R^1) : \int_0^{2\pi} \varphi(x) dx = 0 \right\}$$

is presented. It is based on the following result on the positivity of the differential operator A^x defined by the formula

$$A^x u = -u_{xx}(x) + \delta u(x), \quad \delta \geq 0, \tag{1}$$

with domain

$$D(A^x) = \left\{ u(x) : u(x), u'(x), u''(x) \in C(R^1), u(x) = u(x + 2\pi), x \in R^1, \int_0^{2\pi} u(x) dx = 0 \right\}.$$

Theorem 1.1 [3] *The operator $(A^x + \lambda)$ has a bounded in $\dot{C}(R^1)$ inverse for $\delta = 0, \lambda \geq 0$ and the following estimate holds:*

$$\|(A^x + \lambda)^{-1}\|_{\dot{C}(R^1) \rightarrow \dot{C}(R^1)} \leq \frac{1 + 16\pi^2}{1 + \lambda}. \tag{2}$$

It is easy to see that (2) is true for all $\delta > 0$.

In the present study, the resolvent equation of the operator A^x

$$A^x u + \lambda u = \varphi \tag{3}$$

or

$$\begin{cases} -u''(x) + (\delta + \lambda)u(x) = \varphi(x), & 0 < x < 2\pi, \\ u(x) = u(x + 2\pi), & x \in R^1, \int_0^{2\pi} u(x) dx = 0, \end{cases} \tag{4}$$

will be investigated. The Green function of A^x is constructed. The estimates for the Green function are obtained. It is proved that for any $\alpha \in (0, \frac{1}{2})$, the norms in the spaces

$E_\alpha = E_\alpha(\dot{C}(R^1), A^x)$ and $\dot{C}^{2\alpha}(R^1)$ are equivalent. Here, $\dot{C}^{2\alpha}(R^1)$ is the subspace of $C^{2\alpha}(R^1)$ such that $\int_0^{2\pi} \varphi(x) dx = 0$. The positivity of the operator A^x in the Hölder spaces $\dot{C}^{2\alpha}(R^1)$, $\alpha \in (0, \frac{1}{2})$, is proved. The structure of fractional spaces generated by this operator is investigated. In the applications, theorems on well-posedness of local and nonlocal boundary value problems for elliptic equations in Hölder spaces are obtained.

2 The Green function of A^x

Lemma 2.1 *Assume that $\varphi \in C(R^1)$ and $\varphi(x) = \varphi(x + 2\pi)$, $x \in R^1$, $\int_0^{2\pi} \varphi(x) dx = 0$. For any $\lambda \geq 0$, problem (4) is uniquely solvable and the following formula holds:*

$$u(x) = (A^x + \lambda I)^{-1} \varphi(x) = \int_0^{2\pi} G(x, s; \lambda) \varphi(s) ds, \tag{5}$$

where

$$G(x, s; \lambda) = \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda} 2\pi}} \begin{cases} e^{-\sqrt{\delta + \lambda}(x-s)} + e^{-\sqrt{\delta + \lambda}(2\pi - x + s)}, & 0 \leq s \leq x, \\ e^{-\sqrt{\delta + \lambda}(s-x)} + e^{-\sqrt{\delta + \lambda}(2\pi + x - s)}, & x \leq s \leq 2\pi, \end{cases} \tag{6}$$

$$G(2\pi + x, s; \lambda) = G(x, s; \lambda), \quad x \in R^1.$$

Proof Let $x \in [0, 2\pi]$. From (3) there follows the problem

$$\begin{aligned} -u''(x) + (\delta + \lambda)u(x) &= \varphi(x), \quad 0 < x < 2\pi, \\ u(0) = u(2\pi), \quad x \in R^1, \int_0^{2\pi} u(x) dx &= 0. \end{aligned} \tag{7}$$

We will try to obtain a formula for (7). It is clearly

$$\begin{aligned} u(x) &= (1 - e^{-\sqrt{\delta + \lambda} 4\pi})^{-1} \left\{ (e^{-\sqrt{\delta + \lambda} x} - e^{-\sqrt{\delta + \lambda}(4\pi - x)})u(0) \right. \\ &\quad + (e^{-\sqrt{\delta + \lambda}(2\pi - x)} - e^{-\sqrt{\delta + \lambda}(2\pi + x)})u(2\pi) - (e^{-\sqrt{\delta + \lambda}(2\pi - x)} - e^{-\sqrt{\delta + \lambda}(2\pi + x)}) \\ &\quad \times (2\sqrt{\delta + \lambda})^{-1} \int_0^{2\pi} (e^{-\sqrt{\delta + \lambda}(2\pi - s)} - e^{-\sqrt{\delta + \lambda}(2\pi + s)})\varphi(s) ds \Big\} \\ &\quad + (2\sqrt{\delta + \lambda})^{-1} \int_0^{2\pi} (e^{-\sqrt{\delta + \lambda}|x-s|} - e^{-\sqrt{\delta + \lambda}(x+s)})\varphi(s) ds \end{aligned} \tag{8}$$

is the solution of the following problem:

$$\begin{cases} -u''(x) + (\delta + \lambda)u(x) = \varphi(x), & 0 < x < 2\pi, \\ u(0), u(2\pi) \text{ are given.} \end{cases}$$

Using (8) and the conditions $\int_0^{2\pi} u(x) dx = 0$, $u(0) = u(2\pi)$, we get

$$\begin{aligned} \int_0^{2\pi} u(x) dx &= (1 - e^{-\sqrt{\delta + \lambda} 4\pi})^{-1} \int_0^{2\pi} \left\{ (e^{-\sqrt{\delta + \lambda} x} - e^{-\sqrt{\delta + \lambda}(4\pi - x)})u(0) \right. \\ &\quad \left. + (e^{-\sqrt{\delta + \lambda}(2\pi - x)} - e^{-\sqrt{\delta + \lambda}(2\pi + x)})u(0) - (e^{-\sqrt{\delta + \lambda}(2\pi - x)} - e^{-\sqrt{\delta + \lambda}(2\pi + x)}) \right\} \end{aligned}$$

$$\begin{aligned} & \times (2\sqrt{\delta + \lambda})^{-1} \int_0^{2\pi} (e^{-\sqrt{\delta+\lambda}(2\pi-s)} - e^{-\sqrt{\delta+\lambda}(2\pi+s)})\varphi(s) ds \Big\} dx \\ & + (2\sqrt{\delta + \lambda})^{-1} \int_0^{2\pi} \int_0^{2\pi} (e^{-\sqrt{\delta+\lambda}|x-s|} - e^{-\sqrt{\delta+\lambda}(x+s)})\varphi(s) ds dx = 0. \end{aligned}$$

Then

$$u(0) = (1 - e^{-\sqrt{\delta+\lambda}2\pi})^{-1} (2\sqrt{\delta + \lambda})^{-1} \int_0^{2\pi} (e^{-\sqrt{\delta+\lambda}(2\pi-s)} + e^{-\sqrt{\delta+\lambda}s} - e^{-\sqrt{\delta+\lambda}2\pi} - 1)\varphi(s) ds.$$

By using the assumption $\int_0^{2\pi} \varphi(x) dx = 0$, we have

$$u(0) = (1 - e^{-\sqrt{\delta+\lambda}2\pi})^{-1} (2\sqrt{\delta + \lambda})^{-1} \int_0^{2\pi} (e^{-\sqrt{\delta+\lambda}(2\pi-s)} + e^{-\sqrt{\delta+\lambda}s})\varphi(s) ds. \tag{9}$$

From (8) and (9) it follows that

$$u(x) = \int_0^{2\pi} \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta+\lambda}2\pi}} (e^{-\sqrt{\delta+\lambda}(2\pi-|x-s|)} + e^{-\sqrt{\delta+\lambda}|x-s|})\varphi(s) ds.$$

Therefore,

$$G(x, s; \lambda) = \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta+\lambda}2\pi}} \begin{cases} e^{-\sqrt{\delta+\lambda}(x-s)} + e^{-\sqrt{\delta+\lambda}(2\pi-x+s)}, & 0 \leq s \leq x, \\ e^{-\sqrt{\delta+\lambda}(s-x)} + e^{-\sqrt{\delta+\lambda}(2\pi+x-s)}, & x \leq s \leq 2\pi. \end{cases}$$

Let $x \in R^1$. Then, from $u(x) = u(x + 2\pi)$, $x \in R^1$ it follows that $G(2\pi + x, s; \lambda) = G(x, s; \lambda)$. Lemma 2.1 is proved. \square

Note that the following pointwise estimates for $G(x, s; \lambda)$ and its first order derivatives hold:

$$|G(x, s; \lambda)| \leq \frac{M(\delta)}{\sqrt{\delta + \lambda}} \begin{cases} e^{-\sqrt{\delta+\lambda}(2\pi-x+s)}, & 0 \leq s \leq x - \pi, \\ e^{-\sqrt{\delta+\lambda}(x-s)}, & x - \pi \leq s \leq x, \\ e^{-\sqrt{\delta+\lambda}(s-x)}, & x \leq s \leq \pi + x, \\ e^{-\sqrt{\delta+\lambda}(2\pi+x-s)}, & \pi + x \leq s \leq 2\pi, \end{cases} \tag{10}$$

$$|G_x(x, s; \lambda)|, |G_s(x, s; \lambda)| \leq M(\delta) \begin{cases} e^{-\sqrt{\delta+\lambda}(2\pi-x+s)}, & 0 < s < x - \pi, \\ e^{-\sqrt{\delta+\lambda}(x-s)}, & x - \pi < s < x, \\ e^{-\sqrt{\delta+\lambda}(s-x)}, & x < s < \pi + x, \\ e^{-\sqrt{\delta+\lambda}(2\pi+x-s)}, & \pi + x < s < 2\pi, \end{cases} \tag{11}$$

$$|G(2\pi + x, s; \lambda)| = |G(x, s; \lambda)|, \quad x \in R^1.$$

Here, $M = \frac{1}{1 - e^{-\sqrt{\delta+\lambda}2\pi}}$.

3 The structure of fractional spaces generated by A^x and positivity of A^x in Hölder spaces

Clearly, the operator A^x and its resolvent $(A^x + \lambda)^{-1}$ commute. By the definition of the norm in the fractional space $E_\alpha = E_\alpha(\dot{C}(R^1), A^x)$, we get

$$\|(A^x + \lambda)^{-1}\|_{E_\alpha \rightarrow E_\alpha} \leq \|(A^x + \lambda)^{-1}\|_{\dot{C}(R^1) \rightarrow \dot{C}(R^1)}.$$

Thus, from Theorem 1.1 it follows that A^x is a positive operator in the fractional spaces $E_\alpha(\mathring{C}(R^1), A^x)$. Moreover, we have the following result.

Theorem 3.1 *For $\alpha \in (0, \frac{1}{2})$, the norms of the spaces $E_\alpha(\mathring{C}(R^1), A^x)$ and the Hölder space $\mathring{C}^{2\alpha}(R^1)$ are equivalent.*

Proof For any $\lambda \geq 0$ we have the obvious equality

$$A^x(A^x + \lambda)^{-1}\varphi(x) = \varphi(x) - \lambda(A^x + \lambda)^{-1}\varphi(x).$$

By (5), we can write

$$\begin{aligned} A^x(A^x + \lambda)^{-1}\varphi(x) &= \varphi(x) - \lambda \int_0^{2\pi} G(x, s; \lambda)\varphi(s) \, ds \\ &= \frac{\delta}{\delta + \lambda}\varphi(x) + \frac{\lambda}{\delta + \lambda}\varphi(x) - \lambda \int_0^{2\pi} G(x, s; \lambda)\varphi(s) \, ds. \end{aligned} \tag{12}$$

By (5) and identity (12), we can write

$$A^x(A^x + \lambda)^{-1}\varphi(x) = \frac{\delta}{\delta + \lambda}\varphi(x) + \lambda \int_0^{2\pi} G(x, s; \lambda)(\varphi(x) - \varphi(s)) \, ds. \tag{13}$$

Then

$$\begin{aligned} \lambda^\alpha A^x(A^x + \lambda)^{-1}\varphi(x) &= \frac{\delta\lambda^\alpha}{\delta + \lambda}\varphi(x) + \lambda^{\alpha+1} \int_0^{2\pi} G(x, s; \lambda)(\varphi(x) - \varphi(s)) \, ds \\ &= P_1(x) + P_2(x), \end{aligned}$$

where

$$\begin{aligned} P_1(x) &= \frac{\delta\lambda^\alpha}{\delta + \lambda}\varphi(x), \\ P_2(x) &= \lambda^{\alpha+1} \int_0^{2\pi} G(x, s; \lambda)(\varphi(x) - \varphi(s)) \, ds. \end{aligned}$$

Using the definition of the norm of space $C^{2\alpha}(R^1)$ and $\frac{\lambda^\alpha\delta^{1-\alpha}}{\delta + \lambda} \leq 1$, we can write

$$|P_1(x)| \leq \frac{\delta\lambda^\alpha\delta^{1-\alpha}}{\delta + \lambda} |\varphi(x)| \leq \delta^\alpha \max_{x \in [0, 2\pi]} |\varphi(x)| \leq \delta^\alpha \|\varphi\|_{C^{2\alpha}(R^1)}$$

for any $x \in [0, 2\pi]$. Then

$$\max_{x \in [0, 2\pi]} |P_1(x)| \leq \delta^\alpha \|\varphi\|_{C^{2\alpha}(R^1)}$$

or

$$\|P_1\|_{C(R^1)} \leq \delta^\alpha \|\varphi\|_{C^{2\alpha}(R^1)}. \tag{14}$$

Then, using estimate (10), we get

$$\begin{aligned}
 |P_2(x)| &\leq \lambda^{\alpha+1} \int_0^{2\pi} |G(x, s; \lambda)| |\varphi(x) - \varphi(s)| ds \\
 &\leq \frac{M\lambda^{\alpha+1}}{2\sqrt{\delta + \lambda}} \left(\int_0^{x-\pi} e^{-\sqrt{\delta+\lambda}(2\pi-x+s)} |\varphi(x) - \varphi(s)| ds \right. \\
 &\quad + \int_{x-\pi}^x e^{-\sqrt{\delta+\lambda}(x-s)} |\varphi(x) - \varphi(s)| ds + \int_x^{x+\pi} e^{-\sqrt{\delta+\lambda}(s-x)} |\varphi(x) - \varphi(s)| ds \\
 &\quad \left. + \int_{x+\pi}^{2\pi} e^{-\sqrt{\delta+\lambda}(2\pi+x-s)} |\varphi(x) - \varphi(s)| ds \right) \\
 &= P_{21}(x) + P_{22}(x) + P_{23}(x) + P_{24}(x),
 \end{aligned}$$

where

$$\begin{aligned}
 P_{21}(x) &= \frac{M(\delta)\lambda^{\alpha+1}}{2\sqrt{\delta + \lambda}} \int_0^{x-\pi} e^{-\sqrt{\delta+\lambda}(2\pi-x+s)} |\varphi(x) - \varphi(s)| ds, \\
 P_{22}(x) &= \frac{M(\delta)\lambda^{\alpha+1}}{2\sqrt{\delta + \lambda}} \int_{x-\pi}^x e^{-\sqrt{\delta+\lambda}(x-s)} |\varphi(x) - \varphi(s)| ds, \\
 P_{23}(x) &= \frac{M(\delta)\lambda^{\alpha+1}}{2\sqrt{\delta + \lambda}} \int_x^{x+\pi} e^{-\sqrt{\delta+\lambda}(s-x)} |\varphi(x) - \varphi(s)| ds, \\
 P_{24}(x) &= \frac{M(\delta)\lambda^{\alpha+1}}{2\sqrt{\delta + \lambda}} \int_{x+\pi}^{2\pi} e^{-\sqrt{\delta+\lambda}(2\pi+x-s)} |\varphi(x) - \varphi(s)| ds.
 \end{aligned}$$

Here $M(\delta) = \frac{1}{1-e^{-\sqrt{\delta}2\pi}}$.

Clearly, using the condition $\varphi(s) = \varphi(s + 2\pi)$, $P_{21}(x)$ can be rewritten as

$$\begin{aligned}
 P_{21}(x) &= \frac{M(\delta)\lambda^{\alpha+1}}{2\sqrt{\delta + \lambda}} \int_0^{x-\pi} e^{-\sqrt{\delta+\lambda}(2\pi-x+s)} |\varphi(x) - \varphi(2\pi + s)| ds \\
 &\leq \|\varphi\|_{C^{2\alpha}(R^1)} \frac{M(\delta)\lambda^{\alpha+1}}{2(\delta + \lambda)^{\alpha+1}} \Gamma(2\alpha + 1)
 \end{aligned}$$

for any $x \in [0, 2\pi]$. Then

$$\max_{x \in [0, 2\pi]} P_{21}(x) \leq \|\varphi\|_{C^{2\alpha}(R^1)} \frac{M(\delta)}{\alpha} \Gamma(2\alpha + 1). \tag{15}$$

Let us estimate $P_{22}(x)$.

$$\begin{aligned}
 P_{22}(x) &\leq \|\varphi\|_{C^{2\alpha}(R^1)} \frac{M(\delta)\lambda^{\alpha+1}}{2\sqrt{\delta + \lambda}} \int_{x-\pi}^x e^{-\sqrt{\delta+\lambda}(x-s)} (x-s)^{2\alpha} ds. \\
 &\leq \|\varphi\|_{C^{2\alpha}(R^1)} \frac{M(\delta)\lambda^{\alpha+1}}{2(\delta + \lambda)^{\alpha+1}} \Gamma(2\alpha + 1)
 \end{aligned}$$

for any $x \in [0, 2\pi]$. Then

$$\max_{x \in [0, 2\pi]} P_{22}(x) \leq \|\varphi\|_{C^{2\alpha}(R^1)} \frac{M(\delta)}{\alpha} \Gamma(2\alpha + 1). \tag{16}$$

Let us estimate $P_{23}(x)$.

$$\begin{aligned} P_{23}(x) &\leq \|\varphi\|_{C^{2\alpha}(R^1)} \frac{M(\delta)\lambda^{\alpha+1}}{2\sqrt{\delta+\lambda}} \int_x^{x+\pi} e^{-\sqrt{\delta+\lambda}(s-x)}(s-x)^{2\alpha} ds \\ &\leq \|\varphi\|_{C^{2\alpha}(R^1)} \frac{M(\delta)\lambda^{\alpha+1}}{2(\delta+\lambda)^{\alpha+1}} \Gamma(2\alpha+1) \end{aligned}$$

for any $x \in [0, 2\pi]$. Then

$$\max_{x \in [0, 2\pi]} P_{23}(x) \leq \|\varphi\|_{C^{2\alpha}(R^1)} \frac{M(\delta)}{\alpha} \Gamma(2\alpha+1). \tag{17}$$

Clearly, using the condition $\varphi(x) = \varphi(x + 2\pi)$, $P_{24}(x)$ can be rewritten as

$$\begin{aligned} P_{24}(x) &\leq \|\varphi\|_{C^{2\alpha}(R^1)} \frac{M(\delta)\lambda^{\alpha+1}}{2\sqrt{\delta+\lambda}} \int_{x+\pi}^{2\pi} e^{-\sqrt{\delta+\lambda}(2\pi+x-s)}(2\pi+x-s)^{2\alpha} ds \\ &\leq \|\varphi\|_{C^{2\alpha}(R^1)} \frac{M(\delta)\lambda^{\alpha+1}}{2(\delta+\lambda)^{\alpha+1}} \Gamma(2\alpha+1) \end{aligned}$$

for any $x \in [0, 2\pi]$. Then

$$\max_{x \in [0, 2\pi]} P_{24}(x) \leq \|\varphi\|_{C^{2\alpha}(R^1)} \frac{M(\delta)}{\alpha} \Gamma(2\alpha+1). \tag{18}$$

Combining estimates (15)-(18), we have

$$\begin{aligned} \max_{x \in [0, 2\pi]} |P_2(x)| &\leq \max_{x \in [0, 2\pi]} P_{21}(x) + \max_{x \in [0, 2\pi]} P_{22}(x) + \max_{x \in [0, 2\pi]} P_{23}(x) + \max_{x \in [0, 2\pi]} P_{24}(x) \\ &\leq \|\varphi\|_{C^{2\alpha}(R^1)} \frac{M(\delta)}{\alpha} \Gamma(2\alpha+1). \end{aligned} \tag{19}$$

Using estimate (14) and (19), we get

$$\max_{x \in [0, 2\pi]} |\lambda^\alpha A^x (\lambda + A^x)^{-1} \varphi(x)| \leq \frac{M(\delta)}{\alpha} \|\varphi\|_{C^{2\alpha}(R^1)} + \frac{M(\delta)}{\alpha} \Gamma(2\alpha+1) \|\varphi\|_{C^{2\alpha}(R^1)}$$

for any $\lambda \geq 0$. Thus,

$$\|\varphi\|_{E_\alpha(C(R^1), A^x)} \leq \frac{M(\delta)}{\alpha} [1 + \Gamma(2\alpha+1)] \|\varphi\|_{C^{2\alpha}(R^1)}. \tag{20}$$

Now, let us prove the opposite inequality. For any positive operator A^x in the Banach space, we can write

$$\varphi(x) = \int_0^\infty A^x (\lambda + A^x)^{-2} \varphi(x) d\lambda.$$

From this relation and (5), it follows that

$$\begin{aligned} \varphi(x) &= \int_0^\infty (A^x + \lambda)^{-1} A^x (A^x + \lambda)^{-1} \varphi(x) d\lambda \\ &= \int_0^\infty \int_0^{2\pi} G(x, s; \lambda) A^x (A^x + \lambda)^{-1} \varphi(s) ds d\lambda. \end{aligned}$$

Consequently,

$$\begin{aligned} \varphi(x_1) - \varphi(x_2) &= \int_0^\infty \int_0^{2\pi} (G(x_1, s; \lambda) - G(x_2, s; \lambda)) A^x (A^x + \lambda)^{-1} \varphi(s) \, ds \, d\lambda \\ &= \int_0^\infty \lambda^{-\alpha} \int_0^{2\pi} (G(x_1, s; \lambda) - G(x_2, s; \lambda)) \lambda^\alpha A^x (A^x + \lambda)^{-1} \varphi(s) \, ds \, d\lambda. \end{aligned}$$

Therefore,

$$|\varphi(x_1) - \varphi(x_2)| \leq \int_0^\infty \lambda^{-\alpha} \int_0^{2\pi} |G(x_1, s; \lambda) - G(x_2, s; \lambda)| \, ds \, d\lambda \|\varphi\|_{E_\alpha(C^{2\alpha}(R^1), A^x)}.$$

Let

$$T = |x_1 - x_2|^{-2\alpha} \left(\int_0^\infty \lambda^{-\alpha} \int_0^{2\pi} |G(x_1, s; \lambda) - G(x_2, s; \lambda)| \, ds \, d\lambda \right).$$

Then, for any $x_1, x_2 \in [0, 2\pi]$ such that $x_2 \geq x_1$, we have

$$\frac{|\varphi(x_1) - \varphi(x_2)|}{|x_1 - x_2|^{2\alpha}} \leq T \|\varphi\|_{E_\alpha(C^{2\alpha}(R^1), A^x)}.$$

Now, we will prove that

$$T \leq \frac{M(\delta)}{2\alpha(1 - 2\alpha)}. \tag{21}$$

Using (6), we get

$$\begin{aligned} |G(x_1, s; \lambda) - G(x_2, s; \lambda)| &\leq \left| \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda} 2\pi}} \right| \\ &\quad \times \begin{cases} |e^{-\sqrt{\delta + \lambda}(2\pi - x_1 + s)} - e^{-\sqrt{\delta + \lambda}(2\pi - x_2 + s)}|, & 0 \leq s \leq x_1 - \pi, \\ |e^{-\sqrt{\delta + \lambda}(x_1 - s)} - e^{-\sqrt{\delta + \lambda}(2\pi - x_2 + s)}|, & x_1 - \pi \leq s \leq x_2 - \pi, \\ |e^{-\sqrt{\delta + \lambda}(x_1 - s)} - e^{-\sqrt{\delta + \lambda}(x_2 - s)}|, & x_2 - \pi \leq s \leq x_1, \\ |e^{-\sqrt{\delta + \lambda}(s - x_1)} - e^{-\sqrt{\delta + \lambda}(x_2 - s)}|, & x_1 \leq s \leq \frac{x_1 + x_2}{2}, \\ |e^{-\sqrt{\delta + \lambda}(s - x_1)} - e^{-\sqrt{\delta + \lambda}(x_2 - s)}|, & \frac{x_1 + x_2}{2} \leq s \leq x_2, \\ |e^{-\sqrt{\delta + \lambda}(s - x_1)} - e^{-\sqrt{\delta + \lambda}(s - x_2)}|, & x_2 \leq s \leq x_1 + \pi, \\ |e^{-\sqrt{\delta + \lambda}(2\pi + x_1 - s)} - e^{-\sqrt{\delta + \lambda}(s - x_2)}|, & x_1 + \pi \leq s \leq x_2 + \pi, \\ |e^{-\sqrt{\delta + \lambda}(2\pi + x_1 - s)} - e^{-\sqrt{\delta + \lambda}(2\pi + x_2 - s)}|, & x_2 + \pi \leq s \leq 2\pi. \end{cases} \end{aligned}$$

Then

$$\begin{aligned} T &= |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \\ &\quad \times \left[\int_0^{x_1 - \pi} \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda} 2\pi}} |e^{-\sqrt{\delta + \lambda}(2\pi - x_1 + s)} - e^{-\sqrt{\delta + \lambda}(2\pi - x_2 + s)}| \, ds \right. \\ &\quad + \int_{x_1 - \pi}^{x_2 - \pi} \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda} 2\pi}} |e^{-\sqrt{\delta + \lambda}(x_1 - s)} - e^{-\sqrt{\delta + \lambda}(2\pi - x_2 + s)}| \, ds \\ &\quad \left. + \int_{x_2 - \pi}^{x_1} \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda} 2\pi}} |e^{-\sqrt{\delta + \lambda}(x_1 - s)} - e^{-\sqrt{\delta + \lambda}(x_2 - s)}| \, ds \right. \\ &\quad + \int_{x_2 - \pi}^{x_1} \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda} 2\pi}} |e^{-\sqrt{\delta + \lambda}(s - x_1)} - e^{-\sqrt{\delta + \lambda}(x_2 - s)}| \, ds \\ &\quad + \int_{x_2 - \pi}^{x_1} \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda} 2\pi}} |e^{-\sqrt{\delta + \lambda}(s - x_1)} - e^{-\sqrt{\delta + \lambda}(s - x_2)}| \, ds \\ &\quad + \int_{x_2 - \pi}^{x_1} \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda} 2\pi}} |e^{-\sqrt{\delta + \lambda}(2\pi + x_1 - s)} - e^{-\sqrt{\delta + \lambda}(s - x_2)}| \, ds \\ &\quad \left. + \int_{x_2 - \pi}^{x_1} \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda} 2\pi}} |e^{-\sqrt{\delta + \lambda}(2\pi + x_1 - s)} - e^{-\sqrt{\delta + \lambda}(2\pi + x_2 - s)}| \, ds \right] \end{aligned}$$

$$\begin{aligned}
 & + \int_{x_1}^{\frac{x_1+x_2}{2}} \frac{1}{2\sqrt{\delta+\lambda}} \frac{1}{1-e^{-\sqrt{\delta+\lambda}2\pi}} \left| e^{-\sqrt{\delta+\lambda}(s-x_1)} - e^{-\sqrt{\delta+\lambda}(x_2-s)} \right| ds \\
 & + \int_{\frac{x_1+x_2}{2}}^{x_2} \frac{1}{2\sqrt{\delta+\lambda}} \frac{1}{1-e^{-\sqrt{\delta+\lambda}2\pi}} \left| e^{-\sqrt{\delta+\lambda}(s-x_1)} - e^{-\sqrt{\delta+\lambda}(x_2-s)} \right| ds \\
 & + \int_{x_2}^{x_1+\pi} \frac{1}{2\sqrt{\delta+\lambda}} \frac{1}{1-e^{-\sqrt{\delta+\lambda}2\pi}} \left| e^{-\sqrt{\delta+\lambda}(s-x_1)} - e^{-\sqrt{\delta+\lambda}(s-x_2)} \right| ds \\
 & + \int_{x_1+\pi}^{x_2+\pi} \frac{1}{2\sqrt{\delta+\lambda}} \frac{1}{1-e^{-\sqrt{\delta+\lambda}2\pi}} \left| e^{-\sqrt{\delta+\lambda}(2\pi+x_1-s)} - e^{-\sqrt{\delta+\lambda}(s-x_2)} \right| ds \\
 & + \int_{x_2+\pi}^{2\pi} \frac{1}{2\sqrt{\delta+\lambda}} \frac{1}{1-e^{-\sqrt{\delta+\lambda}2\pi}} \left| e^{-\sqrt{\delta+\lambda}(2\pi+x_1-s)} - e^{-\sqrt{\delta+\lambda}(2\pi+x_2-s)} \right| ds \Big] d\lambda \\
 & = T_1 + T_2 + T_3 + T_4 + T_5 + T_6 + T_7 + T_8.
 \end{aligned}$$

Let us estimate the expression

$$\begin{aligned}
 T_1 & = |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_0^{x_1-\pi} \left(\frac{1}{2\sqrt{\delta+\lambda}} \frac{1}{1-e^{-\sqrt{\delta+\lambda}2\pi}} \right. \\
 & \quad \left. \times \left| e^{-\sqrt{\delta+\lambda}(2\pi-x_1+s)} - e^{-\sqrt{\delta+\lambda}(2\pi-x_2+s)} \right| ds \right) d\lambda.
 \end{aligned}$$

For $0 \leq s \leq x_1 - \pi$, using the estimates

$$\begin{aligned}
 & \left| e^{-\sqrt{\delta+\lambda}(2\pi-x_1+s)} - e^{-\sqrt{\delta+\lambda}(2\pi-x_2+s)} \right| \leq 2e^{-\sqrt{\delta+\lambda}(2\pi-x_2+s)}, \\
 & \left| e^{-\sqrt{\delta+\lambda}(2\pi-x_1+s)} - e^{-\sqrt{\delta+\lambda}(2\pi-x_2+s)} \right| \leq \sqrt{\delta+\lambda} 2e^{-\sqrt{\delta+\lambda}(2\pi-x_2+s)}(x_2 - x_1),
 \end{aligned}$$

we can write

$$\begin{aligned}
 T_1 & \leq |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \left(\int_0^{x_1-\pi} \frac{1}{\sqrt{\delta+\lambda}} \frac{1}{1-e^{-\sqrt{\delta+\lambda}2\pi}} \right. \\
 & \quad \left. \times \left[\sqrt{\delta+\lambda} e^{-\sqrt{\delta+\lambda}(2\pi-x_2+s)}(x_2 - x_1) ds \right] \right) d\lambda \\
 & \leq M_2(\delta) \int_0^\infty \lambda^{-\alpha} \frac{1}{2\sqrt{\delta+\lambda}} e^{-\sqrt{\delta+\lambda}(\pi-x_2+x_1)} d\lambda \\
 & \leq M_2(\delta) \int_0^\infty \lambda^{-\alpha} \frac{1}{2\sqrt{\lambda}} e^{-\sqrt{\lambda}(\pi-x_2+x_1)} d\lambda.
 \end{aligned}$$

Using the substitutions $\sqrt{\lambda} = \tau$ and $\pi - x_2 + x_1 = a$, we get

$$T_1 \leq M_2(\delta) \left(\int_0^1 \tau^{-2\alpha} d\tau + \int_1^\infty e^{-\tau a} d\tau \right) \leq M_2(\delta) \left(\frac{1}{1-2\alpha} + \frac{1}{a} e^{-a} \right). \tag{22}$$

Using (22), we get

$$T_1 \leq \frac{M_2(\delta, a)}{1-2\alpha}. \tag{23}$$

Now, let us estimate the expression

$$T_2 = |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{x_1-\pi}^{x_2-\pi} \left(\frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda}2\pi}} \right. \\ \left. \times \left| e^{-\sqrt{\delta + \lambda}(x_1-s)} - e^{-\sqrt{\delta + \lambda}(2\pi-x_2+s)} \right| ds \right) d\lambda.$$

Using

$$\Delta_1 = \int_{x_1-\pi}^{x_2-\pi} \left| e^{-\sqrt{\delta + \lambda}(x_1-s)} - e^{-\sqrt{\delta + \lambda}(2\pi-x_2+s)} \right| ds$$

and the substitution

$$\frac{x_1 - s - \pi}{x_2 - x_1} = -y,$$

we have

$$\Delta_1 = (x_2 - x_1) \int_0^1 \left(e^{-\sqrt{\delta + \lambda}(\pi - (x_2 - x_1)y)} - e^{-\sqrt{\delta + \lambda}(\pi - (x_2 - x_1)(1-y))} \right) dy \\ \leq (x_2 - x_1)^2 \sqrt{\delta + \lambda} \int_0^1 e^{-\sqrt{\delta + \lambda}(\pi - (x_2 - x_1)z)} dz.$$

Then

$$T_2 \leq |x_1 - x_2|^{-2\alpha} \left(\int_0^\infty \lambda^{-\alpha} \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda}2\pi}} \right. \\ \left. \times (x_2 - x_1)^2 \sqrt{\delta + \lambda} \int_0^1 e^{-\sqrt{\delta + \lambda}(\pi - (x_2 - x_1)z)} dz \right) d\lambda \\ \leq M_3(\delta) \int_0^\infty \lambda^{-\alpha} \frac{1}{2\sqrt{\delta + \lambda}} e^{-\sqrt{\delta + \lambda}(\pi - x_2 + x_1)} d\lambda \\ \leq M_3(\delta) \int_0^\infty \lambda^{-\alpha} \frac{1}{2\sqrt{\lambda}} e^{-\sqrt{\lambda}(\pi - x_2 + x_1)} d\lambda.$$

Using the substitutions $\sqrt{\lambda} = \tau$ and $\pi - x_2 + x_1 = a$, we get

$$T_2 \leq M_3(\delta) \left(\int_0^1 \tau^{-2\alpha} e^{-\tau a} d\tau + \int_1^\infty \tau^{-2\alpha} e^{-\tau a} d\tau \right) \leq M_4(\delta) \left(\frac{1}{1 - 2\alpha} + \frac{1}{a} e^{-a} \right). \tag{24}$$

Using (24), we obtain

$$T_2 \leq \frac{M_4(\delta, a)}{1 - 2\alpha}. \tag{25}$$

Now, let us estimate the expression

$$T_3 = |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{x_2-\pi}^{x_1} \left(\frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda}2\pi}} \right. \\ \left. \times \left| e^{-\sqrt{\delta + \lambda}(x_1-s)} - e^{-\sqrt{\delta + \lambda}(x_2-s)} \right| ds \right) d\lambda.$$

We have

$$\begin{aligned}
 T_3 &= |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \frac{1}{2\sqrt{\delta + \lambda}} \\
 &\quad \times (1 - e^{-\sqrt{\delta + \lambda}(x_2 - x_1)})(1 - e^{-\sqrt{\delta + \lambda}2\pi})^{-1} \int_{x_2 - \pi}^{x_1} e^{-\sqrt{\delta + \lambda}(x_1 - s)} ds d\lambda \\
 &\leq M_5(\delta) |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \frac{1}{2(\delta + \lambda)} (1 - e^{-\sqrt{\delta + \lambda}(x_2 - x_1)}) d\lambda \\
 &\leq M_5(\delta) |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \frac{1}{2\lambda} (1 - e^{-\sqrt{\lambda}(x_2 - x_1)}) d\lambda.
 \end{aligned}$$

Using the substitution $\sqrt{\lambda}(x_2 - x_1) = \tau$, we get

$$T_3 \leq M_5(\delta) \int_0^\infty \frac{1 - e^{-\tau}}{\tau^{1+2\alpha}} d\tau = M_5(\delta) \int_0^\infty \frac{1}{\tau^{1+2\alpha}} \int_0^\tau e^{-s} ds d\tau.$$

Let $0 \leq s \leq \infty$ and $s \leq \tau \leq \infty$. Then

$$T_3 \leq \frac{M_5(\delta)}{2\alpha} \int_0^\infty e^{-s} s^{-2\alpha} ds = \frac{M_5(\delta)}{2\alpha} \Gamma(2\alpha). \tag{26}$$

Using (26), we obtain

$$T_3 \leq \frac{M_5(\delta)}{2\alpha(1 - 2\alpha)}. \tag{27}$$

Let us estimate the expression

$$\begin{aligned}
 T_4 &= |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{x_1}^{\frac{x_1 + x_2}{2}} \left(\frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda}2\pi}} \right. \\
 &\quad \left. \times |e^{-\sqrt{\delta + \lambda}(s - x_1)} - e^{-\sqrt{\delta + \lambda}(x_2 - s)}| ds \right) d\lambda.
 \end{aligned}$$

We have

$$\begin{aligned}
 T_4 &\leq |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \frac{1}{2(\delta + \lambda)} (1 - e^{-\sqrt{\delta + \lambda}(\frac{x_2 - x_1}{2})}) d\lambda \\
 &\leq |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \frac{1}{2\lambda} (1 - e^{-\sqrt{\lambda}(\frac{x_2 - x_1}{2})}) d\lambda.
 \end{aligned}$$

Using the substitution $\sqrt{\lambda}(\frac{x_2 - x_1}{2}) = \tau$, we get

$$T_4 \leq \frac{M_6(\delta)}{4^\alpha} \int_0^\infty \frac{1 - e^{-\tau}}{\tau^{1+2\alpha}} d\tau = \frac{M_6(\delta)}{4^\alpha} \int_0^\infty \frac{1}{\tau^{1+2\alpha}} \left(\int_0^\tau e^{-s} ds \right) d\tau.$$

Let $0 \leq s \leq \infty$ and $s \leq \tau \leq \infty$. Then

$$T_4 \leq \frac{M_6(\delta)}{4^\alpha 2\alpha} \int_0^\infty e^{-s} s^{-2\alpha} ds = \frac{M_6(\delta)}{4^\alpha 2\alpha} \Gamma(2\alpha) \leq \frac{M_6(\delta)}{4^\alpha 2\alpha(1 - 2\alpha)}. \tag{28}$$

Using (28), we have

$$T_4 \leq \frac{M_6(\delta)}{2\alpha(1-2\alpha)}. \tag{29}$$

Let us estimate the expression

$$T_5 = |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{\frac{x_1+x_2}{2}}^{x_2} \left(\frac{1}{2\sqrt{\delta+\lambda}} \frac{1}{1-e^{-\sqrt{\delta+\lambda}2\pi}} \right. \\ \left. \times |e^{-\sqrt{\delta+\lambda}(s-x_1)} - e^{-\sqrt{\delta+\lambda}(x_2-s)}| ds \right) d\lambda.$$

We have

$$T_5 \leq |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \frac{1}{2(\delta+\lambda)} (1 - e^{-\sqrt{\delta+\lambda}(\frac{x_2-x_1}{2})}) d\lambda \\ \leq |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \frac{1}{2\lambda} (1 - e^{-\sqrt{\lambda}(\frac{x_2-x_1}{2})}) d\lambda.$$

Using the substitution $\sqrt{\lambda}(\frac{x_2-x_1}{2}) = \tau$, we get

$$T_5 \leq \frac{M_7(\delta)}{4^\alpha} \int_0^\infty \frac{1 - e^{-\tau}}{\tau^{1+2\alpha}} d\tau = \frac{M_7(\delta)}{4^\alpha} \int_0^\infty \frac{1}{\tau^{1+2\alpha}} \left(\int_0^\tau e^{-s} ds \right) d\tau.$$

Let $0 \leq s \leq \infty$ and $s \leq \tau \leq \infty$. Then

$$T_5 \leq \frac{M_7(\delta)}{4^\alpha 2\alpha} \int_0^\infty e^{-s} s^{-2\alpha} ds = \frac{M_7(\delta)}{4^\alpha \alpha} \Gamma(2\alpha) \leq \frac{M_7(\delta)}{4^\alpha 2\alpha(1-2\alpha)}. \tag{30}$$

From (30) it follows that

$$T_5 \leq \frac{M_7(\delta)}{2\alpha(1-2\alpha)}. \tag{31}$$

Let us estimate the expression

$$T_6 = |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{x_2}^{x_1+\pi} \left(\frac{1}{2\sqrt{\delta+\lambda}} \frac{1}{1-e^{-\sqrt{\delta+\lambda}2\pi}} \right) \\ \times |e^{-\sqrt{\delta+\lambda}(s-x_1)} - e^{-\sqrt{\delta+\lambda}(s-x_2)}| ds \right) d\lambda.$$

We have

$$T_6 = |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{x_2}^{x_1+\pi} \left(\frac{1}{2\sqrt{\delta+\lambda}} \frac{1}{1-e^{-\sqrt{\delta+\lambda}2\pi}} \right) \\ \times e^{-\sqrt{\delta+\lambda}(s-x_2)} (1 - e^{-\sqrt{\delta+\lambda}(x_2-x_1)}) ds \right) d\lambda \\ \leq |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \frac{1}{2(\delta+\lambda)} (1 - e^{-\sqrt{\delta+\lambda}(x_2-x_1)}) d\lambda \\ \leq |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \frac{1}{2\lambda} (1 - e^{-\sqrt{\lambda}(x_2-x_1)}) d\lambda.$$

Using the substitution $\sqrt{\lambda}(x_2 - x_1) = \tau$, we get

$$T_6 \leq M_8(\delta) \int_0^\infty \frac{1 - e^{-\tau}}{\tau^{1+2\alpha}} d\tau = M_8(\delta) \int_0^\infty \frac{1}{\tau^{1+2\alpha}} \int_0^\tau e^{-s} ds d\tau.$$

Let $0 \leq s \leq \infty$ and $s \leq \tau \leq \infty$. Then

$$T_6 \leq \frac{M_9(\delta)}{2\alpha} \int_0^\infty e^{-s} s^{-2\alpha} ds \leq \frac{M_9(\delta)}{2\alpha} \Gamma(2\alpha). \tag{32}$$

Using (32), we have

$$T_6 \leq \frac{M_9(\delta)}{2\alpha(1 - 2\alpha)}. \tag{33}$$

Let us estimate the expression

$$T_7 = |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{x_1+\pi}^{x_2+\pi} \left(\frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda}2\pi}} \right. \\ \left. \times \left| e^{-\sqrt{\delta + \lambda}(2\pi + x_1 - s)} - e^{-\sqrt{\delta + \lambda}(s - x_2)} \right| ds \right) d\lambda.$$

Using

$$\Delta_2 = \int_{x_1+\pi}^{x_2+\pi} \left| e^{-\sqrt{\delta + \lambda}(2\pi + x_1 - s)} - e^{-\sqrt{\delta + \lambda}(s - x_2)} \right| ds$$

and the substitution

$$\frac{\pi + x_2 - s}{x_2 - x_1} = y,$$

we obtain

$$\Delta_2 = \int_1^0 -(x_2 - x_1) \left(e^{-\sqrt{\delta + \lambda}(\pi - (x_2 - x_1)(1 - y))} - e^{-\sqrt{\delta + \lambda}(\pi - (x_2 - x_1)y)} \right) dy \\ \leq (x_2 - x_1)^2 \sqrt{\delta + \lambda} \int_0^1 \left| -e^{-\sqrt{\delta + \lambda}(\pi - (x_2 - x_1))z} \right| dz.$$

Let us estimate the expression

$$T_7 \leq |x_1 - x_2|^{-2\alpha} \int_0^\infty \left(\lambda^{-\alpha} \frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta + \lambda}2\pi}} \right. \\ \left. \times (x_2 - x_1)^2 \sqrt{\delta + \lambda} \int_0^1 -e^{-\sqrt{\delta + \lambda}(\pi - (x_2 - x_1))z} dz \right) d\lambda \\ \leq M_{10}(\delta) \int_0^\infty \lambda^{-\alpha} \frac{1}{2\sqrt{\delta + \lambda}} \left(e^{-\sqrt{\delta + \lambda}(\pi - x_2 + x_1)} \right) d\lambda \\ \leq M_{10}(\delta) \int_0^\infty \lambda^{-\alpha} \frac{1}{2\sqrt{\lambda}} \left(e^{-\sqrt{\lambda}(\pi - x_2 + x_1)} \right) d\lambda.$$

Using the substitutions $\sqrt{\lambda} = \tau$ and $(\pi - x_2 + x_1) = a$, we get

$$T_7 \leq 2M_{10}(\delta) \left(\int_0^1 \tau^{-2\alpha} d\tau + \int_1^\infty e^{-\tau a} d\tau \right) = M_{11}(\delta) \left(\frac{1}{1-2\alpha} + \frac{1}{a} e^{-a} \right). \tag{34}$$

Using (34), we get

$$T_7 \leq \frac{M_{11}(\delta, a)}{2\alpha(1-2\alpha)}. \tag{35}$$

Let us estimate the expression

$$T_8 = |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{x_2+\pi}^{2\pi} \left(\frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta+\lambda}2\pi}} \right. \\ \left. \times \left| e^{-\sqrt{\delta+\lambda}(2\pi+x_1-s)} - e^{-\sqrt{\delta+\lambda}(2\pi+x_2-s)} \right| ds \right) d\lambda.$$

For $x_2 + \pi \leq s \leq 2\pi$, using the estimates

$$\left| e^{-\sqrt{\delta+\lambda}(2\pi+x_1-s)} - e^{-\sqrt{\delta+\lambda}(2\pi+x_2-s)} \right| \leq 2e^{-\sqrt{\delta+\lambda}(2\pi+x_1-s)}, \\ \left| e^{-\sqrt{\delta+\lambda}(2\pi+x_1-s)} - e^{-\sqrt{\delta+\lambda}(2\pi+x_2-s)} \right| \leq \sqrt{\delta + \lambda} 2e^{-\sqrt{\delta+\lambda}(2\pi+x_1-s)}(x_2 - x_1),$$

we can write

$$T_8 \leq |x_1 - x_2|^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{x_2+\pi}^{2\pi} \left(\frac{1}{2\sqrt{\delta + \lambda}} \frac{1}{1 - e^{-\sqrt{\delta+\lambda}2\pi}} \right. \\ \left. \times \sqrt{\delta + \lambda} 2e^{-\sqrt{\delta+\lambda}(2\pi+x_1-s)}(x_2 - x_1) ds \right) d\lambda \\ \leq M_{12}(\delta) \int_0^\infty \lambda^{-\alpha} \frac{1}{\sqrt{\delta + \lambda}} e^{-\sqrt{\delta+\lambda}x_1} d\lambda \\ \leq 2M_{12}(\delta) \int_0^\infty \lambda^{-\alpha} \frac{1}{2\sqrt{\lambda}} e^{-\sqrt{\lambda}x_1} d\lambda.$$

Using the substitutions $\sqrt{\lambda} = \tau$ and $x_1 = a$, we get

$$T_8 \leq M_{13}(\delta) \left(\int_0^1 \tau^{-2\alpha} d\tau + \int_1^\infty e^{-\tau a} d\tau \right) \leq M_{13}(\delta) \left(\frac{1}{1-2\alpha} + \frac{1}{a} e^{-a} \right). \tag{36}$$

Equation (36) yields

$$T_8 \leq \frac{M_{13}(\delta, a)}{2\alpha(1-2\alpha)}. \tag{37}$$

Applying the triangle inequality and estimates (21), (23), (25), (27), (29), (31), (33), (35), and (37), we get

$$T \leq \frac{M(\delta, a)}{2\alpha(1-2\alpha)}.$$

So, (21) is proved. Thus, for any $x_1, x_2 \in [0, 2\pi]$ we have

$$|x_1 - x_2|^{-2\alpha} |\varphi(x_1) - \varphi(x_2)| \leq \frac{M(\delta, a)}{2\alpha(1 - 2\alpha)} \|\varphi\|_{E_\alpha(C(R^1), A^x)}.$$

This means that the following inequality holds:

$$\|\varphi\|_{\dot{C}^{2\alpha}(R^1)} \leq \frac{M(\delta, a)}{2\alpha(1 - 2\alpha)} \|\varphi\|_{E_\alpha(C(R^1), A^x)}. \tag{38}$$

Estimates (20) and (38) finish the proof of Theorem 3.1. □

Since A^x is a positive operator in the fractional spaces $E_\alpha(\dot{C}(R^1), A^x)$, from the result of Theorem 3.1 it follows also it is positive operator in the Hölder space $\dot{C}^{2\alpha}(R^1)$. Namely, we have the following.

Theorem 3.2 *The operator $(A^x + \lambda)$ has an inverse bounded in $\dot{C}^{2\alpha}(R^1)$ for any $\lambda \geq 0$ and the following estimate holds:*

$$\|(A^x + \lambda)^{-1}\|_{\dot{C}^{2\alpha}(R^1) \rightarrow \dot{C}^{2\alpha}(R^1)} \leq \frac{M(\delta, a)}{2\alpha(1 - 2\alpha)} \frac{M_{14}}{\delta + \lambda}.$$

4 Applications

First, we consider the boundary value problem

$$\begin{cases} -\frac{\partial^2 u(t, x)}{\partial t^2} - \frac{\partial^2 u(t, x)}{\partial x^2} + \delta u(t, x) = f(t, x), & 0 < t < T, x \in R^1, \\ u(0, x) = \varphi(x), \quad u(T, x) = \psi(x), & x \in R^1, \\ u(t, x) = u(t, x + 2\pi), \quad \int_0^{2\pi} u(t, s) ds = 0, & 0 \leq t \leq T, x \in R^1. \end{cases} \tag{39}$$

Here, $\varphi(x)$, $\psi(x)$, and $f(t, x)$ are sufficiently smooth 2π -periodic functions in x and they satisfy any compatibility conditions which guarantee problem (39) has a smooth solution $u(t, x)$.

Theorem 4.1 *Let $0 < 2\alpha < 1$. Then, for the solution of the boundary value problem (39), we have the following coercive stability inequality:*

$$\begin{aligned} & \|u_{tt}\|_{C([0, T], \dot{C}^{2\alpha}(R^1))} + \|u\|_{C([0, T], \dot{C}^{2\alpha+2}(R^1))} \\ & \leq M(\alpha) [\|\varphi\|_{\dot{C}^{2\alpha+2}(R^1)} + \|\psi\|_{\dot{C}^{2\alpha+2}(R^1)} + \|f\|_{C([0, T], \dot{C}^{2\alpha}(R^1))}]. \end{aligned}$$

The proof of Theorem 4.1 is based on Theorem 3.1 on the structure of the fractional spaces $E_\alpha = E_\alpha(C(R^1), A^x)$, Theorem 1.1 on the positivity of the operator A^x , on the following theorems on coercive stability of boundary value for the abstract elliptic equation and on the structure of the fractional space $E'_\alpha = E_\alpha(E, A^{1/2})$ which is the Banach space consisting of those $v \in E$ for which the norm

$$\|v\|_{E'_\alpha} = \sup_{\lambda > 0} \lambda^\alpha \|A^{1/2}(\lambda + A^{1/2})^{-1}v\|_{E_\alpha} + \|v\|_E$$

is finite.

Theorem 4.2 [5] *The spaces $E_\alpha(E, A)$ and $E'_{2\alpha}(E, A^{1/2})$ coincide for any $0 < \alpha < \frac{1}{2}$, and their norms are equivalent.*

Theorem 4.3 [8] *Let A be positive operator in a Banach space E and $f \in C([0, T], E'_\alpha)$, $0 < \alpha < 1$. Then, for the solution of the nonlocal boundary value problem*

$$\begin{cases} -u'' + Au(t) = f(t), & 0 < t < T, \\ u(0) = \varphi, & u(T) = \psi, \end{cases} \tag{40}$$

in a Banach space E with positive operator A , we have the coercive inequality

$$\begin{aligned} & \|u''\|_{C([0, T], E'_\alpha)} + \|Au\|_{C([0, T], E'_\alpha)} \\ & \leq M \left[\|A\varphi\|_{E'_\alpha} + \|A\psi\|_{E'_\alpha} + \frac{M}{\alpha(1-\alpha)} \|f\|_{C([0, T], E'_\alpha)} \right]. \end{aligned}$$

Second, we consider the nonlocal boundary value problem for the elliptic equation

$$\begin{cases} -\frac{\partial^2 u(t, x)}{\partial t^2} - \frac{\partial^2 u(t, x)}{\partial x^2} + \delta u(t, x) = f(t, x), & 0 < t < T, x \in R^1, \\ u(0, x) = u(T, x), & u_t(0, x) = u_t(T, x), & x \in R^1, \\ u(t, x) = u(t, x + 2\pi), & \int_0^{2\pi} u(t, s) ds = 0, & 0 \leq t \leq T, x \in R^1. \end{cases} \tag{41}$$

Here, $f(t, x)$ is a sufficiently smooth 2π -periodic function in x and it satisfies any compatibility conditions which guarantee problem (41) has a smooth solution $u(t, x)$.

Theorem 4.4 *Let $0 < 2\alpha < 1$. Then, for the solution of boundary value problem (39), we have the following coercive stability inequality:*

$$\|u_{tt}\|_{C([0, T], \dot{C}^{2\alpha}(R^1))} + \|u\|_{C([0, T], \dot{C}^{2\alpha+2}(R^1))} \leq M(\alpha) \|f\|_{C([0, T], \dot{C}^{2\alpha}(R^1))}.$$

The proof of Theorem 4.4 is based on Theorem 3.1 on the structure of the fractional spaces $E_\alpha = E_\alpha(\dot{C}(R^1), A^x)$, Theorem 1.1 on the positivity of the operator A^x , Theorem 3.2 on the structure of the fractional space $E'_\alpha = E'_\alpha(E, A^{1/2})$ and on the following theorem on the coercive stability of the nonlocal boundary value for the abstract elliptic equation.

Theorem 4.5 [25] *Let A be a positive operator in a Banach space E and $f \in C([0, T], E'_\alpha)$, $0 < \alpha < 1$. Then, for the solution of the nonlocal boundary value problem*

$$\begin{cases} -u'' + Au(t) = f(t), & 0 < t < T, \\ u(0) = u(T), & u'(0) = u'(T), \end{cases} \tag{42}$$

in a Banach space E with positive operator A the coercive inequality

$$\|u''\|_{C([0, T], E'_\alpha)} + \|Au\|_{C([0, T], E'_\alpha)} \leq \frac{M}{\alpha(1-\alpha)} \|f\|_{C([0, T], E'_\alpha)}$$

holds.

Competing interests

The authors declare that they have no competing interests.

Authors' contributions

FST has produced more than half of the results of the present paper. All authors read and approved the final manuscript.

Author details

¹Department of Mathematics, Fatih University, Istanbul, Turkey. ²Department of Mathematics, ITTU, Ashgabat, Turkmenistan.

Acknowledgements

The authors would like to thank the anonymous referee for his/her valuable comments, which have improved the correctness and presentation of the manuscript.

Received: 1 November 2014 Accepted: 23 January 2015 Published online: 11 February 2015

References

- Krein, SG: Linear Differential Equations in a Banach Space. Translations of Mathematical Monographs. Am. Math. Soc., Providence (1968)
- Fattorini, HO: Second Order Linear Differential Equations in Banach Spaces. Elsevier, Amsterdam (1985)
- Sobolevskii, PE: A new method of summation of Fourier series converging in C -norm. Semigroup Forum **71**, 289-300 (2005)
- Ashyralyev, A, Sobolevskii, PE (eds.): Well-Posedness of Parabolic Difference Equations. Operator Theory: Advances and Applications, vol. 69. Birkhäuser, Basel (1994)
- Ashyralyev, A, Sobolevskii, PE (eds.): New Difference Schemes for Partial Differential Equations. Operator Theory: Advances and Applications, vol. 148. Birkhäuser, Basel (2004)
- Ashyralyev, A, Yaz, N: On structure of fractional spaces generated by positivity operators with the nonlocal boundary conditions. In: Differential & Difference Equations and Applications, pp. 91-102. Hindawi Publishing Corporation, New York (2006)
- Alibekov, KA, Sobolevskii, PE: Stability of difference schemes for parabolic equations. Dokl. Akad. Nauk SSSR **232**(4), 737-740 (1977)
- Ashyralyev, A: Method of positive operators of investigations of the high order of accuracy difference schemes for parabolic and elliptic equations. Ph.D. thesis, Inst. of Math. of Acad. Sci., Kiev (1992)
- Ashyralyev, A, Nalbant, N, Sözen, Y: Structure of fractional spaces generated by second order difference operators. J. Franklin Inst. Eng. Appl. Math. **351**(2), 713-731 (2014). doi:10.1016/j.jfranklin.2013.07.009
- Ashyralyev, A, Sobolevskii, PE: The linear operator interpolation theory and the stability of difference-schemes. Dokl. Akad. Nauk SSSR **275**(6), 1289-1291 (1984) (in Russian)
- Ashyralyev, A, Tetikoglu, FS: The structure of fractional spaces generated by the positive operator with periodic conditions. In: Ashyralyev, A, Lukashov, A (eds.) First International Conference on Analysis and Applied Mathematics: ICAAM 2012. AIP Conference Proceedings, vol. 1470, pp. 57-60 (2012)
- Agmon, S (ed.): Lectures on Elliptic Boundary-Value Problems. Van Nostrand, Princeton (1996)
- Semenova, GE: Positivity of elliptic difference operators and its applications. In: Ashyralyev, A, Lukashov, A (eds.) First International Conference on Analysis and Applied Mathematics: ICAAM 2012. AIP Conference Proceedings, vol. 1470, pp. 232-235 (2012)
- Solomyak, MZ: Analytic semigroups generated by elliptic operator in spaces L_p . Dokl. Akad. Nauk SSSR **127**(1), 37-39 (1959)
- Solomyak, MZ: Estimation of norm of the resolvent of elliptic operator in spaces L_p . Usp. Mat. Nauk **15**(6), 141-148 (1960)
- Danelich, SI: Positive difference operators in R_{n1} . Voronezh. Gosud. Univ. 1987, Deposited VINITI 3.18, no. 1936-B87, 13 (1989)
- Ashyralyev, A: Fractional spaces generated by the positive differential and difference operators in a Banach space. In: ISMME, vol. 83, pp. 10-19. Springer, Berlin (2006)
- Ashyralyev, A, Yakubov, A: The structures of fractional spaces generating by the transport operator. In: Modeling the Processes in Exploration of Gas Deposits and Applied Problems of Theoretical Gas Hydrodynamics, pp. 162-172 (1998)
- Bazarov, MA: On the structure of fractional spaces. In: Proceedings of the XXVII All-Union Scientific Student Conference 'The Student and Scientific-Technological Progress' (Novosibirsk, 1989), pp. 3-7. Novosibirsk. Gos. Univ., Novosibirsk (1989)
- Simirnitiskii, YA, Sobolevskii, PE: Positivity of multidimensional difference operators in the C -norm. Usp. Mat. Nauk **36**(4), 202-203 (1981)
- Simirnitiskii, YA, Sobolevskii, PE: Pointwise estimates of the Green function of the resolvent of a difference elliptic operator. Čisl. Metody Meh. Sploš. Sredy **13**(4), 129-142 (1982)
- Ashyralyev, A, Akturk, S, Sozen, Y: The structure of fractional spaces generated by a two-dimensional elliptic differential operator and its applications. Bound. Value Probl. **2014**, Article ID 3 (2014). doi:10.1186/1687-2770-2014-3
- Smirnitiskii, YA, Sobolevskii, A (eds.): Positivity of difference operators. In: Spline Methods, Novosibirsk (1981) (in Russian)
- Ashyralyev, A, Agirseven, D: Stability of parabolic equations with unbounded operators acting on delay terms. Electron. J. Differ. Equ. **2014**, 160 (2014)
- Ashyralyev, A: On well-posedness of the nonlocal boundary value problems for elliptic equations. Numer. Funct. Anal. Optim. **24**, 1-15 (2003)